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b4 Rakiondl E§vatns

Ratonuls 2 an e guatnon with
st least one rahionad

Ypvess o - h‘w W,
witl dolve for Fhe vavisble.

ex. | |>3,3q$?

a4 _'9_ = __I_

X3iq  lox+2 X7
Factor fiest !

2 4 10 - 1
K-ayaa) G(xw)

S STAPEIIEY!

05

¥ cancel the denominator
¥ Ba fvet stxle r\ol\-pcrm"ss‘ukk vahes

X %42

12 4 10(x-a)= lx+a)

12+ 10X =0 = *+13
Hx =20
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Y+ b,3 non-permissidle

q(y-)-1(y-3)=I%
015-5'-{-45+ia=|?
5y = (0
y=12 trf b, 3
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S MR- — vl K2 ypao
Kxa K- a_ X
-t e
Yg—| _ k4l - K3-4K+Y
3 K (FaXwd)
C.0 CK+QAXK-R)

(U ) KR) — (k+)(KR) = K3-HK+at

YyP-ag+a — (K H3A2)= KO- dK

YR aKra -K3-3k-2 = KI-4 K+
AKI-gK -aU =0

% kq_yg-1as0
(k=6)(K+D=0
K-lL=0 YK+2=0
< (R
non-permissie vaes. K%
K=6
Practee pg. 348
# 3,5



	Page 1: Feb 23-9:56 AM
	Page 2: Feb 23-10:12 AM
	Page 3: Feb 23-10:21 AM

